main.c

#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include "pilha.h”

int main (void) {
elemc , x;
i nt erro
Pilha P ;
Create (&P);
printf  ( "Digite seu texto: " )i
while ((c =getche () != ) |
if (c == ) |
Pop(&P, &x, &erro );
if (erro)
printf  ( “(erro) " )i
el se
printf  ( "(%c desempilhado) "
}
else if (c == ) {
Empty (& P);
printf  ( "(pilha esvaziada) "
} else {
Push(&P, &c, &erro );
if (erro)
printf  ( "(erro) " );

printf  ( "\n\nDesempilhando tudo: " )i
while (! ISEmpty (&P)) {
Pop(&P, &x, &erro );

if (erro)
printft  ("erro" );
el se
printf  ("%c", x );
}
return O;
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pilha.c |

#i ncl ude "pil ha. h"

void Create(Pil ha *P) {
P->topo = -1;
return;

}

void Enmpty(Pilha *P) {
P->topo = -1,

return;
}
int Isenmpty(Pilha *P) {
if (P->topo == -1)
return 1,
el se
return O;
}

int IskFull (Pilha *P) {
if (P->topo == TanPilha - 1)
return 1,
el se
return O;

}

void Push(Pilha *P, elem*X, int *erro) {
if ('lIsFull(P)) {

*erro = 0O;

P- >t opo++,

P->itens[ P->topo] = *X
} else

*erro = 1;
return;

}

void Pop(Pilha *P, elem*X, int *erro) {
if (!'IsEmpty(P)) {
*erro = 0;
*X = P->itens|[ P->topo];
P- >t opo- -;
} else
*erro = 1,
return;
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Ipilha.h |

#define TanPi | ha 100
t ypedef char el em

t ypedef struct {

i nt topo;

el emitens|[ TanPi | ha]
} Pilha;

void Create(Pil ha*);
void Enpty(Pil ha*);

int IsEmpty(Pilha*);

int IsFull (Pilha*);

voi d Push(Pil ha*, elent,
voi d Pop(Pil ha*, elent

int*);
int*);
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